Mathematica Pannonica

22/2 (2011), 259-277

# EXACT TRAVELING WAVE SOLUTIONS OF ( $2+1$ )-DIMENSIONAL NONLINEAR EVOLUTION EQUATIONS BY USING THE GENERALIZED TANHMETHOD 

Elsayed M. E. Zayed<br>Department of Mathematics, Faculty of Science, Zagazig University, Zagazig, Egypt<br>Hanan M. Abdel Rahman<br>Department of Basic Sciences, Higher Technological Institute, Tenth Of Ramadan City, Egypt

Received: April 2011
MSC 2010: 60 K 35
Keywords: The generalized tanh-method, Riccati equation, the $(2+1)$ dimensional Nizhnik-Novikov-Veselov equations, the ( $2+1$ )-dimensional Burgers equations, the $(2+1)$-dimensional Wu -Zhang equations.


#### Abstract

The Riccati equation involving parameters and symbolic computation are used to uniformly construct different forms of traveling wave solutions for nonlinear evolution equations. It is shown that the sign of the parameters can be applied in judging the existence of various forms of traveling wave solutions. In this paper, the generalized tanh-method is demonstrated on some nonlinear equations which include the $(2+1)$-dimensional Nizhnik-NovikovVeselov equations(NNV), the $(2+1)$-dimensional Burgers equations and the $(2+1)$ dimensional Wu -Zhang (WZ) equations.


[^0]
## 1. Introduction

It is well known [1-38] that many important phenomena and dynamics processes can be described by special nonlinear partial differential equations (NPDEs). When a nonlinear PDE is used to characterize physical properties such as propagation or aggregation, it is of fundamental physical interest to solve the nonlinear PDE in a closed form. In the past several decades both mathematician and physicists have made many attempts in this direction. Various methods (see [1-38]) which are used to solve the nonlinear PDEs have been developed. Among them are the inverse scattering method [1, 16], the Bäcklund transformation method [8, 16], the tanhsech method [10, 13, 14, 24], the extended tanh-method [7, 12], the sine-cosine method [21, 28-30], the homogeneous balance method [7], the Jacobi elliptic function method [18] and so on. In recent years, the direct method for exact solutions of NPDEs becomes more and more attractive partly due to the availability of computer symbolic systems which allows us to perform the complex and tedious algebraic calculation on computer. It helps us to find new exact solutions of nonlinear partial differential equations. One of the most effective direct method to construct the exact solutions of NPDEs is that the tanh-method. The tanh-method and its extended are widely used by the authors [22, 23, $25-27,31,32]$ and by the references given therein. A generalized tanhfunction method [33] has been presented to find the new exact solutions of nonlinear partial differential equations. The goal of this work is to extend the generalized tanh-function method to solve the $(2+1)$ dimensional Nizhnik-Novikov-Veselov (NNV), the ( $2+1$ )-dimensional Burgers equations and the $(2+1)$-dimensional Wu-Zhang (WZ) equations. In this method, the Riccati equation involving parameters and symbolic computation are used to uniformly construct different forms of traveling wave solutions for nonlinear evolution equations. It is shown that the sign of these parameters can be applied in judging the existence of various forms of traveling wave solutions. The objective of this article is to use the generalized tanh-method for solving the $(2+1)$ dimensional Nizhnik-Novikov-Veselov equations [17, 19, 34]:

$$
\begin{align*}
u_{t}+k u_{x x x}+r u_{y y y}+s u_{x}+q u_{y} & =3 k(u v)_{x}+3 r(u w)_{y}, \\
u_{x} & =v_{y},  \tag{1.1}\\
u_{y} & =w_{x},
\end{align*}
$$

and the $(2+1)$-dimensional Painlevé integrable Burgers equations [3, 17, $34,35,37]$ :

$$
\begin{array}{r}
-u_{t}+u u_{y}+\alpha v u_{x}+\beta u_{y y}+\alpha \beta u_{x x}=0, \\
u_{x}-v_{y}=0, \tag{1.2}
\end{array}
$$

as well as the $(2+1)$-dimensional Wu -Zhang equations $[12,36]$

$$
\begin{align*}
u_{t}+u u_{x}+v u_{y}+w_{x} & =0, \\
v_{t}+u v_{x}+v v_{y}+w_{y} & =0  \tag{1.3}\\
w_{t}+(u w)_{x}+(v w)_{y}+\frac{1}{3}\left(u_{x x x}+u_{x y y}+v_{x x y}+v_{y y y}\right) & =0,
\end{align*}
$$

where $r, k, s, q, \alpha, \beta$ are real parameters. In the past years, many people studied the Nizhnik-Novikov-Veselov equations. For instance, Boiti et al. [2] solved NNV equations via the inverse scattering transformation. Ren [17] and Xia [34] also obtained the solutions of the NNV equations. Lou [11] analyzed the coherent structures of the NNV equation by separation of variables approach. Recently, Zayed [37] found the exact solutions of system (1.1) by using the $\frac{G^{\prime}}{G}$-expansion method. Zayed et al. [35] discussed the $(2+1)$-dimensional Burgers system (1.2) which is Painlevé integrable and then used the generalized multiple Riccati equations rational expansion method to get some of its solutions. Wang et al. [20] have obtained some traveling wave solutions of the system (1.2) by using the Riccati equation rational expansion method. Cai et al. [3] used the F-expansion method to generate some new exact solutions of the system (1.2). Zayed [37] also discussed the system (1.2) using the $\frac{G^{\prime}}{G}$-expansion method and found some exact solutions of it. The Wu-Zhang system of equations (1.3) describes the nonlinear and dispersive long gravity waves traveling in two horizontal directions on shallow waters of the uniform depth. In system (1.3) $w-1$ is the elevation of the water wave, $u$ is the surface velocity of water along the $x$ direction and $v$ is the surface velocity of water along the $y$ direction. The explicit solutions of the system (1.3) are very helpful for costal and civil engineers to apply the nonlinear water wave model in harbor and costal design. Therefore, the explicit solutions and the numerical results of the system (1.3) are fundamental interest in fluid dynamics. Recently, Zayed et al. [36] have solved the system (1.3) using the modified variational iteration method. The outline of the generalized tanh-method can be described as follows.

## 2. The description of the generalized tanh-function method

In this section, we describe the generalized tanh-function method as follows:

Consider the general nonlinear PDE

$$
\begin{equation*}
u_{t}=P\left(u, u_{x}, u_{x x}, \ldots\right), \tag{2.1}
\end{equation*}
$$

where the independent variables $x$ and $t$ are combined into a new variable, $\xi=k(x-\omega t)$, where $k$ and $\omega$ represent the wave number and velocity of the traveling wave, respectively. Therefore, $u(x, t)$ replaced by $u(\xi)$ which defines the traveling wave solution of Eq. (2.1). Thus Eq. (2.1) is then transformed into the following ODE:

$$
\begin{equation*}
-k \omega u^{\prime}=P\left(u, k u^{\prime}, k^{2} u^{\prime \prime}, \ldots\right) \tag{2.2}
\end{equation*}
$$

Hence, under the transformation $\xi=k(x-\omega t)$, the $\operatorname{PDE}$ (2.1) has been reduced to an ordinary differential equation (ODE) given by (2.2). The resulting ODE is then solved by a finite series of tanh functions of the form

$$
\begin{equation*}
u(\xi)=\sum_{j=0}^{n} a_{j} \tanh ^{j} \xi \tag{2.3}
\end{equation*}
$$

where $n$ is a positive integer which can be determined by balancing between the highest derivatives with the nonlinear term in (2.2) where $a_{0}, a_{1}, \ldots, a_{n}$ are parameters to be determined. The main idea of the generalized tanh-function method [21-33] is to replace $\tanh \xi$ in (2.3) by the solutions $Y(\xi)$ of the Riccati equation which are listed in Table 1 below. The Riccati equation is given by

$$
\begin{equation*}
Y^{\prime}=A+B Y+C Y^{2} \tag{2.4}
\end{equation*}
$$

where $Y^{\prime}=\frac{d Y}{d \xi}$ while $A, B$ and $C$ are constants. It is formulated that the Riccati equation has several kinds of solutions in different cases are listed in Table 1.

Table 1. The relation between the values of $(A, B, C)$ and the corresponding $Y(\xi)$ in the Riccati equation is as follows:

| $A$ | $B$ | $C$ | $Y(\xi)$ |
| :--- | ---: | ---: | :--- |
| 0 | 1 | -1 | $\frac{1}{2}+\frac{1}{2} \tanh \frac{\xi}{2}$ |
| 0 | -1 | 1 | $\frac{1}{2}-\frac{1}{2} \operatorname{coth} \frac{\xi}{2}$ |
| $\frac{1}{2}$ | 0 | $-\frac{1}{2}$ | $\operatorname{coth} \xi \pm \not \operatorname{sch} \xi, \tanh \xi \pm \not+i \operatorname{sech} \xi$ |
| 1 | 0 | -1 | $\tanh \xi, \operatorname{coth} \xi$ |
| $\frac{1}{2}$ | 0 | $\frac{1}{2}$ | $\sec \xi+\tan \xi, \csc \xi-\not \cot \xi$ |
| $-\frac{1}{2}$ | 0 | $-\frac{1}{2}$ | $\sec \xi-\not \tan \xi, \csc \xi+\cot \xi$ |
| $1(-1)$ | 0 | $1(-1)$ | $\tan \xi, \cot \xi$ |
| 0 | 0 | $\neq 0$ | $\frac{-1}{C \xi+m}, m$ is a constant |
| arbitrary constant | 0 | 0 | $A \xi$ |
| arbitrary constant $\neq 0$ | 0 | $\frac{\exp (B \xi)-A}{B}$ |  |

Therefore, the solution of Eq. (2.1) can be written in the form

$$
\begin{equation*}
u(x, t)=u(\xi)=\sum_{j=0}^{n} a_{j} Y^{j} \tag{2.5}
\end{equation*}
$$

By balancing the highest order derivatives with the nonlinear term in Eq. (2.2), we can determine $n$. Substituting (2.5) along with (2.4) into Eq. (2.2) and collect the coefficients of $Y^{j}(j=0,1,2, \ldots, n)$, then set each coefficient to zero produce algebraic equations in terms of $a_{0}, a_{1}, \ldots, a_{n}$, $A, B$ and $C$. Solving these algebraic equations, selecting $A, B, C, Y(\xi)$ from Table 1 and substituting them along with $a_{0}, a_{1}, \ldots, a_{n}$ into (2.5) we obtain the exact solutions of Eq. (2.1).

## 3. On solving the (2+1)-dimensional Nizhnik-Novi-kov-Veselov equations

In order to apply the generalized tanh-method to Eqs. (1.1), we use the transformations $u(x, y, t)=U(\xi), v(x, y, t)=V(\xi), w(x, y, t)=Z(\xi)$, where $\xi=\eta x+\lambda y-\rho t$ and

$$
\begin{equation*}
u(x, y, t)=U(\xi)=\sum_{i=0}^{m} a_{i} Y^{i} \tag{3.1}
\end{equation*}
$$

$$
\begin{aligned}
& v(x, y, t)=V(\xi)=\sum_{i=0}^{n} b_{i} Y^{i} \\
& w(x, y, t)=Z(\xi)=\sum_{i=0}^{l} c_{i} Y^{i}
\end{aligned}
$$

Then Eqs. (1.1) are transformed into the following form:

$$
\begin{align*}
&-\rho U^{\prime}+k \eta^{3} U^{\prime \prime \prime}+r \lambda^{3} U^{\prime \prime \prime}+s \eta U^{\prime}+q \lambda U^{\prime}- \\
&-3 k \eta\left(U V^{\prime}+U^{\prime} V\right)-3 r \lambda\left(U Z^{\prime}+U^{\prime} Z\right)=0  \tag{3.2}\\
& \eta U^{\prime}-\lambda V^{\prime}=0 \\
& \lambda U^{\prime}-\eta Z^{\prime}=0 .
\end{align*}
$$

Balancing $U^{\prime \prime \prime}$ term with the $U V^{\prime}, U^{\prime \prime \prime}$ term with the $U Z^{\prime}$ term in the first equation and $U^{\prime}$ term with $V^{\prime}$ or $U^{\prime}$ term with $Z^{\prime}$ in the third equation in (3.2) gives

$$
\begin{align*}
& m+3=m+n+1 \\
& m+3=m+l+1  \tag{3.3}\\
& m+1=n+1, m+1=l+1
\end{align*}
$$

Consequently, we have $m=n=l=2$. Thus, the solutions have the forms

$$
\begin{align*}
u(x, y, t) & =U(\xi)=a_{0}+a_{1} Y+a_{2} Y^{2} \\
v(x, y, t) & =V(\xi)=b_{0}+b_{1} Y+b_{2} Y^{2}  \tag{3.4}\\
w(x, y, t) & =Z(\xi)=c_{0}+c_{1} Y+c_{2} Y^{2}
\end{align*}
$$

Substituting (3.4) along with (2.4) into (3.2) and setting the coefficients of the powers of $Y(\xi)$ to zero, then we obtain the following system of algebraic equations:

$$
\begin{align*}
& -\rho A a_{1}-3 A a_{1} b_{0} \eta k-3 A a_{0} b_{1} k+6 A^{2} a_{2} B \eta^{3} k+A a_{1} B^{2} \eta^{3} k+  \tag{3.5}\\
& +2 A^{2} a_{1} \eta^{3} C k+A a_{1} \lambda q-3 A a_{1} c_{0} \lambda r-3 A a_{0} c_{1} \lambda r+ \\
& +6 A^{2} a_{2} B \lambda^{3} r+A a_{1} B^{2} \lambda^{3} r+2 A^{2} a_{1} C \lambda^{3} r+A a_{1} \eta s=0 \\
& -2 \rho A a_{2}-\rho a_{1} B-6 A a_{2} b_{0} \eta k-3 a_{1} B b_{0} \eta k-6 A a_{1} b_{1} \eta k-3 a_{0} B b_{1} \eta k- \\
& -6 A a_{0} b_{2} \eta k+14 A a_{2} B^{2} \eta^{3} k+a_{1} B^{3} \eta^{3} k+16 A^{2} a_{2} \eta^{3} C k+8 A a_{1} B \eta^{3} C k, \\
& 2 A a_{2} \lambda q+a_{1} B \lambda q-6 A a_{2} c_{0} \lambda r-3 a_{1} B c_{0} \lambda r-6 A a_{1} c_{1} \lambda r-3 a_{0} B c_{1} \lambda r-
\end{align*}
$$

$$
\begin{aligned}
& -6 A a_{0} c_{2} \lambda r+14 A a_{2} B^{2} \lambda^{3} r+a_{1} B^{3} \lambda^{3} r+16 A^{2} a_{2} C \lambda^{3} r+8 A a_{1} B C \lambda^{3} r+ \\
& +2 A a_{2} c s+a_{1} B \eta s=0, \\
& -2 \rho a_{2} B-\rho a_{1} C-6 a_{2} B b_{0} \eta k-9 A a_{2} b_{1} \eta k-6 a_{1} B b_{1} \eta k-9 A a_{1} b_{2} \eta k- \\
& -6 a_{0} B b_{2} \eta k+8 a_{2} B^{3} \eta^{3} k-3 a_{1} b_{0} \eta C k-3 a_{0} b_{1} \eta C k+52 A a_{2} B \eta^{3} C k+ \\
& +7 a_{1} B^{2} \eta^{3} C k+8 A a_{1} \eta^{3} C^{2} k+2 a_{2} B \lambda q+a_{1} C \lambda q-6 a_{2} B c_{0} \lambda r- \\
& -3 a_{1} C c_{0} \lambda r-9 A a_{2} c_{1} \lambda r-6 a_{1} B c_{1} \lambda r-3 a_{0} C c_{1} \lambda r-9 A a_{1} c_{2} \lambda r- \\
& -6 a_{0} B c_{2} \lambda r+8 a_{2} B^{3} \lambda^{3} r+52 A a_{2} B C \lambda^{3} r+ \\
& +7 a_{1} B^{2} C \lambda^{3} r+8 A a_{1} C^{2} \lambda^{3} r+2 a_{2} B \eta s+a_{1} \eta C s=0 \\
& -2 \rho a_{2} C-9 a_{2} B b_{1} \eta k-12 A a_{2} b_{2} \eta k-9 a_{1} B b_{2} \eta k-6 a_{2} b_{0} \eta C k-6 a_{1} b_{1} \eta C k- \\
& -6 a_{0} b_{2} \eta C k+38 a_{2} B^{2} \eta^{3} C k+40 A a_{2} \eta^{3} C^{2} k+12 a_{1} B \eta^{3} C^{2} k+2 a_{2} C \lambda q- \\
& -6 a_{2} C c_{0} \lambda r-9 a_{2} B c_{1} \lambda r-6 a_{1} C c_{1} \lambda r-12 A a_{2} c_{2} \lambda r-9 a_{1} B c_{2} \lambda r- \\
& -6 a_{0} C c_{2} \lambda r+38 a_{2} B^{2} C \lambda^{3} r+40 A a_{2} C^{2} \lambda^{3} r+12 a_{1} B C^{2} \lambda^{3} r+2 a_{2} \eta C s=0, \\
& -12 a_{2} B b_{2} \eta k-9 a_{2} b_{1} \eta C k-9 a_{1} b_{2} \eta C k+54 a_{2} B \eta^{3} C^{2} k+6 a_{1} \eta^{3} C^{3} k- \\
& -9 a_{2} C c_{1} \lambda r-12 a_{2} B c_{2} \lambda r-9 a_{1} C c_{2} \lambda r+54 a_{2} B C^{2} \lambda^{3} r+ \\
& +6 a_{1} C^{3} \lambda^{3} r=0, \quad 24 a_{2} \eta^{3} C^{3} k-12 a_{2} C c_{2} \lambda r+24 a_{2} C^{3} \lambda^{3} r=0, \\
& -12 a_{2} b_{2} \eta C k+2 A a_{2} \eta+a_{1} B \eta-B b_{1} \lambda-2 A b_{2} \lambda=0, \\
& A a_{1} \eta-A b_{1} \lambda=0, \quad 2 a_{2} \eta C-2 b_{2} C \lambda=0, \\
& 2 a_{2} B \eta+a_{1} \eta C-2 B b_{2} \lambda-b_{1} C \lambda=0, \quad-B \eta c_{1}-2 A \eta c_{2}+2 A a_{2} \lambda+a_{1} B \lambda=0, \\
& -A \eta c_{1}+A a_{1} \lambda=0, \quad-2 \eta C c_{2}+2 a_{2} C \lambda=0 . \\
& -\eta C c_{1}-2 B \eta c_{2}+2 a_{2} B \lambda+a_{1} C \lambda=0, \quad 2
\end{aligned}
$$

The algebraic equations (3.5) can be solved by Mathematica and give the following solutions:

$$
\begin{align*}
& \rho=\frac{1}{\eta \lambda}\left[-3 a_{0} \eta^{3} k-3 b_{0} \eta^{2} \lambda k+B^{2} \eta^{4} \lambda k+8 A \eta^{4} C \lambda k+\lambda^{2} q \eta-\right.  \tag{3.6}\\
& \left.\quad-3 c_{0} \lambda^{2}-3 a_{0} \lambda^{3} \eta r+B^{2} \lambda^{4} r \eta+8 A \eta C \lambda^{4} r+\eta^{2} \lambda s\right], \\
& a_{1}=2 B \lambda \eta C, \quad b_{1}=2 B \eta^{2} C, \quad c_{1}=2 B C \lambda^{2}, \\
& a_{2}=2 \eta \lambda C^{2}, \quad b_{2}=2 \eta^{2} C^{2}, \quad c_{2}=2 C^{2} \lambda^{2} .
\end{align*}
$$

Substituting (3.6) into (3.4) we have

$$
\begin{align*}
u(x, y, t) & =a_{0}+2 B \lambda \eta C Y(\xi)+2 \eta \lambda C^{2} Y^{2}(\xi) \\
v(x, y, t) & =b_{0}+2 B \eta^{2} C Y(\xi)+2 \eta^{2} C^{2} Y^{2}(\xi)  \tag{3.7}\\
w(x, y, t) & =c_{0}+2 B C \lambda^{2} Y(\xi)+2 C^{2} \lambda^{2} Y^{2}(\xi)
\end{align*}
$$

From Table 1, choosing $A=0, B=1, C=-1, Y(\xi)=\frac{1}{2}+\frac{1}{2} \tanh \left(\frac{\xi}{2}\right)$ and inserting them into (3.7) we obtain the exact solutions

$$
\begin{align*}
& u_{1}(x, y, t)=a_{0}-2 \lambda \eta\left\{\frac{1}{2}+\frac{1}{2} \tanh \left(\frac{\xi}{2}\right)\right\}+2 \eta \lambda\left\{\frac{1}{2}+\frac{1}{2} \tanh \left(\frac{\xi}{2}\right)\right\}^{2},  \tag{3.8}\\
& v_{1}(x, y, t)=b_{0}-2 \eta^{2}\left\{\frac{1}{2}+\frac{1}{2} \tanh \left(\frac{\xi}{2}\right)\right\}+2 \eta^{2}\left\{\frac{1}{2}+\frac{1}{2} \tanh \left(\frac{\xi}{2}\right)\right\}^{2}, \\
& w_{1}(x, y, t)=c_{0}-2 \lambda^{2}\left\{\frac{1}{2}+\frac{1}{2} \tanh \left(\frac{\xi}{2}\right)\right\}+2 \lambda^{2}\left\{\frac{1}{2}+\frac{1}{2} \tanh \left(\frac{\xi}{2}\right)\right\}^{2},
\end{align*}
$$

where $\xi=\eta x+\lambda y-\rho t$ and $\rho=\frac{1}{\eta \lambda}\left[-3 a_{0} \eta^{3} k-3 b_{0} \eta^{2} \lambda k+\eta^{4} \lambda k+\lambda^{2} q \eta-\right.$ $\left.-3 c_{0} \lambda^{2}-3 a_{0} \lambda^{3} \eta r+\lambda^{4} r \eta+\eta^{2} \lambda s\right]$. From Table 1, choosing $A=0, B=-1$, $C=1, Y(\xi)=\frac{1}{2}-\frac{1}{2} \operatorname{coth}\left(\frac{\xi}{2}\right)$ and inserting them into (3.7) we obtain the exact solutions

$$
\begin{align*}
& u_{2}(x, y, t)=a_{0}-2 \lambda \eta\left\{\frac{1}{2}-\frac{1}{2} \operatorname{coth}\left(\frac{\xi}{2}\right)\right\}+2 \eta \lambda\left\{\frac{1}{2}-\frac{1}{2} \operatorname{coth}\left(\frac{\xi}{2}\right)\right\}^{2}  \tag{3.9}\\
& v_{2}(x, y, t)=b_{0}-2 \eta^{2}\left\{\frac{1}{2}-\frac{1}{2} \operatorname{coth}\left(\frac{\xi}{2}\right)\right\}+2 \eta^{2}\left\{\frac{1}{2}+\frac{1}{2} \operatorname{coth}\left(\frac{\xi}{2}\right)\right\}^{2} \\
& w_{2}(x, y, t)=c_{0}-2 \lambda^{2}\left\{\frac{1}{2}-\frac{1}{2} \operatorname{coth}\left(\frac{\xi}{2}\right)\right\}+2 \lambda^{2}\left\{\frac{1}{2}-\frac{1}{2} \operatorname{coth}\left(\frac{\xi}{2}\right)\right\}^{2}
\end{align*}
$$

where $\xi=\eta x+\lambda y-\rho t$ and $\rho=\frac{1}{\eta \lambda}\left[-3 a_{0} \eta^{3} k-3 b_{0} \eta^{2} \lambda k+\eta^{4} \lambda k+\lambda^{2} q \eta-\right.$ $\left.-3 c_{0} \lambda^{2} \eta r-3 a_{0} \lambda^{3} \eta r-\lambda^{4} r \eta+\eta^{2} \lambda s\right]$.

From Table 1, choosing $A=\frac{1}{2}, B=0, C=-\frac{1}{2}, Y(\xi)=\operatorname{coth} \xi \pm$ $\pm \operatorname{csch} \xi$ or $Y(\xi)=\tanh \xi \pm i \operatorname{sech} \xi$ and inserting them into (3.7) we obtain the exact solutions

$$
\begin{align*}
& u_{3}(x, y, t)=a_{0}+\frac{\eta \lambda}{2}\{\operatorname{coth} \xi \pm \operatorname{csch} \xi\}^{2} \\
& v_{3}(x, y, t)=b_{0}+\frac{\eta^{2}}{2}\{\operatorname{coth} \xi \pm \operatorname{csch} \xi\}^{2}  \tag{3.10}\\
& w_{3}(x, y, t)=c_{0}+\frac{\lambda^{2}}{2}\{\operatorname{coth} \xi \pm \operatorname{csch} \xi\}^{2}
\end{align*}
$$

$$
\begin{align*}
& u_{4}(x, y, t)=a_{0}+\frac{\eta \lambda}{2}\{\tanh \xi \pm i \operatorname{sech} \xi\}^{2} \\
& v_{4}(x, y, t)=b_{0}+\frac{\eta^{2}}{2}\{\tanh \xi \pm i \operatorname{sech} \xi\}^{2},  \tag{3.11}\\
& w_{4}(x, y, t)=c_{0}+\frac{\lambda^{2}}{2}\{\tanh \xi \pm i \operatorname{sech} \xi\}^{2}
\end{align*}
$$

where $\xi=\eta x+\lambda y-\rho t$ and $\rho=\frac{1}{\eta \lambda}\left[-3 a_{0} \eta^{3} k-3 b_{0} \eta^{2} \lambda k-2 \eta^{4} \lambda k+\lambda^{2} q \eta-\right.$ $\left.-3 c_{0} \lambda^{2}-3 a_{0} \lambda^{3} \eta r-2 \eta \lambda^{4} r+\eta^{2} \lambda s\right]$.

From Table 1, choosing $A=1, B=0, C=-1, Y(\xi)=\tanh \xi$ or $Y(\xi)=\operatorname{coth} \xi$ and inserting them into (3.7) we obtain the exact solutions

$$
\begin{align*}
u_{5}(x, y, t) & =a_{0}+2 \eta \lambda^{2} \tanh ^{2} \xi \\
v_{5}(x, y, t) & =b_{0}+2 \eta^{2} \tanh ^{2} \xi  \tag{3.12}\\
w_{5}(x, y, t) & =c_{0}+2 \lambda^{2} \tanh ^{2} \xi
\end{align*}
$$

and

$$
\begin{align*}
u_{6}(x, y, t) & =a_{0}+2 \eta \lambda^{2} \operatorname{coth}^{2} \xi \\
v_{6}(x, y, t) & =b_{0}+2 \eta^{2} \operatorname{coth}^{2} \xi  \tag{3.13}\\
w_{6}(x, y, t) & =c_{0}+2 \lambda^{2} \operatorname{coth}^{2} \xi
\end{align*}
$$

where $\xi=\eta x+\lambda y-\rho t$ and $\rho=\frac{1}{\eta \lambda}\left[-3 a_{0} \eta^{3} k-3 b_{0} \eta^{2} \lambda k-8 \eta^{4} \lambda k+\lambda^{2} q \eta-\right.$ $\left.-3 c_{0} \lambda^{2} \eta r-3 a_{0} \lambda^{3} \eta r-8 \eta \lambda^{4} r+\eta^{2} \lambda s\right]$.

From Table 1, choosing $A=\frac{1}{2}, B=0, C=\frac{1}{2}, Y(\xi)=\sec \xi+\tan \xi$ or $Y(\xi)=\csc \xi-\cot \xi$ and inserting them into (3.7) we obtain the exact solutions

$$
\begin{align*}
& u_{7}(x, y, t)=a_{0}+\frac{\eta \lambda}{2}\{\sec \xi+\tan \xi\}^{2} \\
& v_{7}(x, y, t)=b_{0}+\frac{\eta^{2}}{2}\{\sec \xi+\tan \xi\}^{2}  \tag{3.14}\\
& w_{7}(x, y, t)=c_{0}+\frac{\lambda^{2}}{2}\{\sec \xi+\tan \xi\}^{2}, \\
& u_{8}(x, y, t)=a_{0}+\frac{\eta \lambda}{2}\{\csc \xi-\cot \xi\}^{2} \\
& v_{8}(x, y, t)=b_{0}+\frac{\eta^{2}}{2}\{\csc \xi-\cot \xi\}^{2}  \tag{3.15}\\
& w_{8}(x, y, t)=c_{0}+\frac{\lambda^{2}}{2}\{\csc \xi-\cot \xi\}^{2}
\end{align*}
$$

where $\xi=\eta x+\lambda y-\rho t$ and $\rho=\frac{1}{\eta \lambda}\left[-3 a_{0} \eta^{3} k-3 b_{0} \eta^{2} \lambda k+2 \eta^{4} \lambda k+\lambda^{2} q \eta-\right.$ $\left.-3 c_{0} \lambda^{2} \eta r-3 a_{0} \lambda^{3} \eta r+2 \eta \lambda^{4} r+\eta^{2} \lambda s\right]$ while $a_{0}, b_{0}$ and $c_{0}$ are arbitrary constants.

## 4. On solving the $(2+1)$-dimensional Painlevé integrable Burgers equations

In this section, we will use the generalized tanh-function method to solve Eqs. (1.2). To this end, we use the transformations $u(x, y, t)=U(\xi)$, $v(x, y, t)=V(\xi), \xi=\eta(x+\lambda y-\rho t)$ where

$$
\begin{align*}
& u(x, y, t)=U(\xi)=\sum_{i=0}^{m} a_{i} Y^{i} \\
& v(x, y, t)=V(\xi)=\sum_{i=0}^{n} b_{i} Y^{i} \tag{4.1}
\end{align*}
$$

Then Eqs. (1.2) become

$$
\begin{array}{r}
\rho U^{\prime}+\lambda U^{\prime} U+\alpha V U^{\prime}+\eta \lambda^{2} \beta U^{\prime \prime}+\eta \alpha \beta U^{\prime \prime}=0, \\
U^{\prime}-\lambda V^{\prime}=0 \tag{4.2}
\end{array}
$$

Balancing the highest derivatives term with highest nonlinear terms in Eqs. (4.2) gives $m=n=1$. Thus, the solutions have the forms:

$$
\begin{align*}
U(\xi) & =a_{0}+a_{1} Y(\xi), \\
V(\xi) & =b_{0}+b_{1} Y(\xi) . \tag{4.3}
\end{align*}
$$

Substituting (4.3) along with (2.4) into (4.2) and equating the coefficients of the powers of $Y(\xi)$ to zero, then we obtain the following system of algebraic equations:

$$
\begin{align*}
& \alpha A a_{1} b_{0}+\alpha A a_{1} \beta B \eta+A a_{0} a_{1} \lambda+A a_{1} \beta B \eta \lambda^{2}+A a_{1} \rho=0,  \tag{4.4}\\
& \alpha a_{1} B b_{0}+\alpha A a_{1} b_{1}+\alpha a_{1} \beta B^{2} \eta+2 \alpha A a_{1} \beta C \eta+A a_{1}^{2} \lambda+a_{0} a_{1} B \lambda+ \\
& +a_{1} \beta B^{2} \eta \lambda^{2}+2 A a_{1} \beta C \eta \lambda^{2}+a_{1} B \rho=0, \\
& \alpha a_{1} B b_{1}+\alpha a_{1} b_{0} C+3 \alpha a_{1} \beta B C \eta+a_{1}^{2} B \lambda+a_{0} a_{1} C \lambda+3 a_{1} \beta B C \eta \lambda^{2}+a_{1} C \rho=0, \\
& \alpha a_{1} b_{1} C+2 \beta a_{1} \beta C^{2} \eta+a_{1}^{2} C \lambda+2 a_{1} \beta C^{2} \eta \lambda^{2}=0, \\
& A a_{1}-A b_{1} \lambda=0, \quad a_{1} B-B b_{1} \lambda=0, \quad a_{1} C-b_{1} C \lambda=0 .
\end{align*}
$$

The algebraic equations (4.4) can be solved by Mathematica and give the following set of solutions:

$$
\begin{equation*}
\rho=\left(-\alpha b_{0}-\alpha \beta B \eta-a_{0} \lambda-\beta B \eta \lambda^{2}\right), \quad a_{1}=-2 \beta C \eta \lambda, \quad b_{1}=-2 \beta \eta C . \tag{4.5}
\end{equation*}
$$

Substituting (4.5) into (4.3) we have

$$
\begin{align*}
& u(x, y, t)=a_{0}-2 \beta \eta \lambda C Y(\xi)  \tag{4.6}\\
& v(x, y, t)=b_{0}-2 \beta \eta C Y(\xi)
\end{align*}
$$

From Table 1, choosing $A=0, B=1, C=-1, Y(\xi)=\frac{1}{2}+\frac{1}{2} \tanh \left(\frac{\xi}{2}\right)$ and inserting them into (4.6) we obtain the exact solutions

$$
\begin{align*}
& u_{1}(x, y, t)=a_{0}+2 \beta \eta \lambda\left\{\frac{1}{2}+\frac{1}{2} \tanh \left(\frac{\xi}{2}\right)\right\},  \tag{4.7}\\
& v_{1}(x, y, t)=b_{0}+2 \beta \eta\left\{\frac{1}{2}+\frac{1}{2} \tanh \left(\frac{\xi}{2}\right)\right\},
\end{align*}
$$

where $\xi=\eta(x+\lambda y-\rho t)$ and $\rho=\left(-\alpha b_{0}-\alpha \beta \eta-a_{0} \lambda-\beta \eta \lambda^{2}\right)$.
From Table 1, choosing $A=0, B=-1, C=1, Y(\xi)=\frac{1}{2}-$ $-\frac{1}{2} \operatorname{coth}\left(\frac{\xi}{2}\right)$ and inserting them into (4.6) we obtain the exact solutions

$$
\begin{align*}
& u_{2}(x, y, t)=a_{0}-2 \beta \eta \lambda\left\{\frac{1}{2}-\frac{1}{2} \operatorname{coth}\left(\frac{\xi}{2}\right)\right\},  \tag{4.8}\\
& v_{2}(x, y, t)=b_{0}-2 \beta \eta\left\{\frac{1}{2}-\frac{1}{2} \operatorname{coth}\left(\frac{\xi}{2}\right)\right\},
\end{align*}
$$

where $\xi=\eta(x+\lambda y-\rho t)$ and $\rho=\left(-\alpha b_{0}+\alpha \beta \eta-a_{0} \lambda+\beta \eta \lambda^{2}\right)$.
From Table 1, choosing $A=\frac{1}{2}, B=0, C=-\frac{1}{2}, Y(\xi)=\operatorname{coth} \xi \pm$ $\pm \operatorname{csch} \xi$ or $Y(\xi)=\tanh \xi \pm i \operatorname{sech} \xi$ and inserting them into (4.6) we obtain the exact solutions

$$
\begin{align*}
u_{3}(x, y, t) & =a_{0}+\beta \eta \lambda\{\operatorname{coth} \xi \pm \operatorname{csch} \xi\} \\
v_{3}(x, y, t) & =b_{0}+\beta \eta\{\operatorname{coth} \xi \pm \operatorname{csch} \xi\} \tag{4.9}
\end{align*}
$$

$$
\begin{align*}
u_{4}(x, y, t) & =a_{0}+\beta \eta \lambda\{\tanh \xi \pm i \operatorname{sech} \xi\}, \\
v_{4}(x, y, t) & =b_{0}+\beta \eta\{\tanh \xi \pm i \operatorname{sech} \xi\}, \tag{4.10}
\end{align*}
$$

where $\xi=\eta(x+\lambda y-\rho t)$ and $\rho=\left(-\alpha b_{0}-a_{0} \lambda\right)$.

From Table 1, choosing $A=1, B=0, C=-1, Y(\xi)=\tanh \xi$ or $Y(\xi)=\operatorname{coth} \xi$ and inserting them into (4.6) we obtain the exact solutions

$$
\begin{align*}
u_{5}(x, y, t) & =a_{0}+2 \beta \eta \lambda \tanh \xi  \tag{4.11}\\
v_{5}(x, y, t) & =b_{0}+2 \beta \eta \tanh \xi
\end{align*}
$$

and

$$
\begin{align*}
& u_{6}(x, y, t)=a_{0}+2 \beta \eta \lambda \operatorname{coth} \xi \\
& v_{6}(x, y, t)=b_{0}+2 \beta \eta \operatorname{coth} \xi \tag{4.12}
\end{align*}
$$

where $\xi=\eta(x+\lambda y-\rho t)$ and $\rho=\left(-\alpha b_{0}-a_{0} \lambda\right), a_{0}, b_{0}$ are arbitrary constants.

From Table 1, choosing $A=\frac{1}{2}, B=0, C=\frac{1}{2}, Y(\xi)=\sec \xi+\tan \xi$ or $Y(\xi)=\csc \xi-\cot \xi$, inserting them into (4.6) we obtain the exact solutions

$$
\begin{align*}
u_{7}(x, y, t) & =a_{0}-\beta \eta \lambda\{\sec \xi+\tan \xi\}, \\
v_{7}(x, y, t) & =b_{0}-\beta \eta\{\sec \xi+\tan \xi\},  \tag{4.13}\\
u_{8}(x, y, t) & =a_{0}-\beta \eta \lambda\{\csc \xi-\cot \xi\},  \tag{4.14}\\
v_{8}(x, y, t) & =b_{0}-\beta \eta\{\csc \xi-\cot \xi\},
\end{align*}
$$

where $\xi=\eta(x+\lambda y-\rho t)$ and $\rho=\left(-\alpha b_{0}-a_{0} \lambda\right)$ while $a_{0}, b_{0}$ are arbitrary constants.

## 5. On solving the $(2+1)$-dimensional $\mathbf{W u}$-Zhang equations

In order to apply the generalized tanh-function method to Eqs. (1.3), we use the transformation $u(x, y, t)=U(\xi), v(x, y, t)=V(\xi), w(x, y, t)=$ $=Z(\xi)$ with $\xi=\eta x+\lambda y-\rho t$, where

$$
\begin{align*}
& u(x, y, t)=U(\xi)=\sum_{i=0}^{m} a_{i} Y^{i} \\
& v(x, y, t)=V(\xi)=\sum_{i=0}^{n} b_{i} Y^{i}  \tag{5.1}\\
& w(x, y, t)=Z(\xi)=\sum_{i=0}^{l} c_{i} Y^{i}
\end{align*}
$$

Then Eqs. (1.3) are transformed into the following forms:

$$
\begin{align*}
& -\rho U^{\prime}+\eta U U^{\prime}+\lambda V U^{\prime}+\eta Z^{\prime}=0  \tag{5.2}\\
& -\rho V^{\prime}+\eta U V^{\prime}+\lambda V U^{\prime}+\lambda Z^{\prime}=0 \\
& -\rho Z^{\prime}+\eta(U Z)^{\prime}+\lambda(V Z)^{\prime}+\frac{1}{3}\left\{\eta^{3} U^{\prime \prime \prime}+\eta \lambda^{2} U^{\prime \prime \prime}+\eta^{2} \lambda V^{\prime \prime \prime}+\lambda^{3} V^{\prime \prime \prime}\right\}=0
\end{align*}
$$

Balancing the highest derivatives term with highest nonlinear terms in Eqs. (5.2) gives so that $m=1, n=1, l=2$. Thus, the solutions have the forms

$$
\begin{align*}
U(\xi) & =a_{0}+a_{1} Y \\
V(\xi) & =b_{0}+b_{1} Y  \tag{5.3}\\
Z(\xi) & =c_{0}+c_{1} Y+c_{2} Y^{2}
\end{align*}
$$

Substituting (5.3) along with (2.4) into Eqs. (5.2) and equating the coefficients of the powers of $Y$ to zero, then we obtain the following system of algebraic equations:

$$
\begin{align*}
& -\rho A a_{1}+A a_{0} a_{1} \eta+A c_{1} \eta+A a_{1} b_{0} \lambda=0,  \tag{5.4}\\
& -\rho a_{1} B+A a_{1}^{2} \eta+a_{0} a_{1} B \eta+B c_{1} \eta+2 A c_{2} \eta+a_{1} B b_{0} \lambda+A a_{1} b_{1} \lambda=0, \\
& -\rho a_{1} C+a_{1}^{2} B \eta+a_{0} a_{1} C \eta+C c_{1} \eta+2 B c_{2} \eta+a_{1} B b_{1} \lambda+a_{1} b_{0} C \lambda=0, \\
& a_{1}^{2} C \eta+2 C c_{2} \eta+a_{1} b_{1} C \lambda=0, \\
& -\rho A b_{1}+A a_{0} b_{1} \eta+A b_{0} b_{1} \lambda+A c_{1} \lambda=0, \\
& -\rho B b_{1}+A a_{1} b_{1} \eta+a_{0} B b_{1} \eta+B b_{0} b_{1} \lambda+A b_{1}^{2} \lambda+B c_{1} \lambda+2 A c_{2} \lambda=0, \\
& -\rho b_{1} C+a_{1} B b_{1} \eta+a_{0} b_{1} C \eta+B b_{1}^{2} \lambda+b_{0} b_{1} C \lambda+C c_{1} \lambda+2 B c_{2} \lambda=0, \\
& a_{1} b_{1} C \eta+b_{1}^{2} C \lambda+2 C c_{2} \lambda=0, \\
& -\rho A c_{1}+A a_{1} c_{0} \eta+A a_{0} c_{1} \eta+\frac{1}{3} A a_{1} B^{2} \eta^{3}+\frac{2}{3} A^{2} a_{1} C \eta^{3}+ \\
& +A b_{1} c_{0} \lambda+A b_{0} c_{1} \lambda+\frac{1}{3} A B^{2} b_{1} \eta^{2} \lambda+\frac{2}{3} A^{2} b_{1} C \eta^{2} \lambda+\frac{1}{3} A a_{1} B^{2} \eta \lambda^{2}+ \\
& +\frac{2}{3} A^{2} a_{1} C \eta \lambda^{2}+\frac{1}{3} A B^{2} b_{1} \lambda^{3}+\frac{2}{3} A^{2} b_{1} C \lambda^{3}=0, \\
& -\rho B c_{1}-2 \rho A c_{2}+a_{1} B c_{0} \eta+2 A a_{1} c_{1} \eta+a_{0} c_{1} \eta+2 A a_{0} c_{2} \eta+ \\
& +\frac{1}{3} a_{1} B^{3} \eta^{3}+A a_{1} B C \eta^{3}+B b_{1} c_{0} \lambda+B b_{0} c_{1} \lambda+2 A b_{1} c_{1} \lambda+ \\
& +2 A b_{0} c_{2} \lambda+B^{3} b_{1} \eta^{2} \lambda+\frac{8}{3} A B b_{1} C \eta^{2} \lambda+\frac{1}{3} a_{1} B^{3} \eta \lambda^{2}+
\end{align*}
$$

$$
\begin{aligned}
& +\frac{8}{3} A a_{1} B C \eta \lambda^{2}+\frac{1}{3} B^{3} b_{1} \lambda^{3}+\frac{8}{3} A B b_{1} C \lambda^{3}=0 \\
& -\rho C c_{1}-2 \rho B c_{2}+a_{1} C c_{0} \eta+2 a_{1} B c_{1} \eta+a_{0} C c_{1} \eta+3 A a_{1} c_{2} \eta+2 a_{0} B c_{2} \eta+ \\
& +\frac{7}{3} a_{1} B^{2} C \eta^{3}+\frac{8}{3} A a_{1} C^{2} \eta^{3}+b_{1} C c_{0} \lambda+2 B b_{1} c_{1} \lambda+b_{0} C c_{1} \lambda+2 B b_{0} c_{2} \lambda+ \\
& +3 A b_{1} c_{2} \lambda+\frac{7}{3} B^{2} b_{1} C \eta^{2} \lambda+\frac{8}{3} A b_{1} C^{2} \eta^{2} \lambda+\frac{7}{3} a_{1} B^{2} C \eta \lambda^{2}+\frac{8}{3} A a_{1} C^{2} \eta \lambda^{2}+ \\
& +\frac{7}{3} B^{2} b_{1} C \lambda^{3}+\frac{8}{3} A b_{1} C^{2} \lambda^{3}=0 \\
& -2 \rho C c_{2}+2 a_{1} C c_{1} \eta+3 a_{1} B c_{2} \eta+2 a_{0} C c_{2} \eta+4 a_{1} B C^{2} \eta^{3}+2 b_{1} C c_{1} \lambda+ \\
& +3 B b_{1} c_{2} \lambda+2 b_{0} C c_{2} \lambda+4 B b_{1} C^{2} \eta^{2} \lambda+4 a_{1} B C^{2} \eta \lambda^{2}+4 B b_{1} C^{2} \lambda^{3}=0 \\
& 3 a_{1} C c_{2} \eta+2 a_{1} C^{3} \eta^{3}+3 b_{1} C c_{2} \lambda+2 b_{1} C^{3} \eta^{2} \lambda+2 a_{1} C^{3} \eta \lambda^{2}+2 b_{1} C^{3} \lambda^{3}=0 .
\end{aligned}
$$

The algebraic equations (5.4) can be solved by Mathematica and give the following solutions:

$$
\begin{array}{ll}
c_{0}=-\frac{2 A C}{3}\left(\eta^{2}+\lambda^{2}\right), & c_{1}=-\frac{2 B C}{3}\left(\eta^{2}+\lambda^{2}\right) \\
c_{2}=-\frac{2 C^{2}}{3}\left(\eta^{2}+\lambda^{2}\right), & b_{1}=-\frac{2 c^{2} \lambda^{2}}{\sqrt{3}}, \quad a_{1}=\frac{-2 C^{2} \eta \lambda}{\sqrt{3}} \tag{5.5}
\end{array}
$$

$$
a_{0}=\frac{1}{4 C \eta^{3}+4 C \eta \lambda^{2}}\left\{4 \rho C \eta^{2}-4 b_{0} C \eta^{2} \lambda+4 \rho C \lambda^{2}-4 b_{0} C \lambda^{3}-\frac{4 B \eta^{2} C^{2} \lambda^{3}}{\sqrt{3}}-\right.
$$

$$
\left.-\frac{4 B \lambda^{5} C^{2}}{\sqrt{3}}-\frac{4 B \eta^{6} C^{2} \lambda^{2}}{\sqrt{3}\left(\eta^{2} \lambda+\lambda^{3}\right)}-\frac{8 B \eta^{4} \lambda^{4} C^{2}}{\sqrt{3}\left(\eta^{2} \lambda+\lambda^{3}\right)}-\frac{4 B \eta^{2} \lambda^{6} C^{2}}{\sqrt{3}\left(\eta^{2} \lambda+\lambda^{3}\right)}\right\}
$$

Substituting the solution (5.5) into (5.3) we have

$$
\begin{align*}
& u(x, y, t)=a_{0}-\frac{2 C^{2} \eta \lambda}{\sqrt{3}} Y(\xi)  \tag{5.6}\\
& v(x, y, t)=b_{0}-\frac{2 C^{2} \lambda^{2}}{\sqrt{3}} Y(\xi) \\
& w(x, y, t)=-\frac{2 B C}{3}\left(\eta^{2}+\lambda^{2}\right)-\frac{2 B C}{3}\left(\eta^{2}+\lambda^{2}\right) Y(\xi)-\frac{2 C^{2}}{3}\left(\eta^{2}+\lambda^{2}\right) Y^{2}(\xi)
\end{align*}
$$

From Table 1, choosing $A=0, B=1, C=-1, Y(\xi)=\frac{1}{2}+\frac{1}{2} \tanh \left(\frac{\xi}{2}\right)$ and inserting them into (5.6) we obtain the exact solutions

$$
\begin{align*}
& u_{1}(x, y, t)=a_{0}+\frac{-2 \eta \lambda}{\sqrt{3}}\left\{\frac{1}{2}+\frac{1}{2} \tanh \left(\frac{\xi}{2}\right)\right\}  \tag{5.7}\\
& v_{1}(x, y, t)=b_{0}-\frac{2 \lambda^{2}}{\sqrt{3}}\left\{\frac{1}{2}+\frac{1}{2} \tanh \left(\frac{\xi}{2}\right)\right\} \\
& w_{1}(x, y, t)=\frac{2}{3}\left(\eta^{2}+\lambda^{2}\right)\left[1+\left\{\frac{1}{2}+\frac{1}{2} \tanh \left(\frac{\xi}{2}\right)\right\}-\left\{\frac{1}{2}+\frac{1}{2} \tanh \left(\frac{\xi}{2}\right)\right\}^{2}\right]
\end{align*}
$$

where $a_{0}=\frac{1}{-4 \eta^{3}-4 \eta \lambda^{2}}\left\{-4 \rho \eta^{2}+4 b_{0} \eta^{2} \lambda-4 \rho \lambda^{2}+4 b_{0} \lambda^{3}+\frac{-4 \eta^{2} \lambda^{3}-4 \lambda^{5}}{\sqrt{3}}+\right.$ $\left.+\frac{-4 \eta^{6}-8 \eta^{4} \lambda^{4} \lambda^{2}-4 \eta^{2} \lambda^{6}}{\sqrt{3}\left(\eta^{2} \lambda+\lambda^{3}\right)}\right\}$.

From Table 1, choosing $A=0, B=-1, C=1, Y(\xi)=\frac{1}{2}-$ $-\frac{1}{2} \operatorname{coth}\left(\frac{\xi}{2}\right)$ and inserting them into (5.6) we obtain the exact solutions (5.8)

$$
\begin{aligned}
& u_{2}(x, y, t)=a_{0}-\frac{2 \eta \lambda}{\sqrt{3}}\left\{\frac{1}{2}-\frac{1}{2} \operatorname{coth}\left(\frac{\xi}{2}\right)\right\} \\
& v_{2}(x, y, t)=b_{0}-\frac{2 \lambda^{2}}{\sqrt{3}}\left\{\frac{1}{2}-\frac{1}{2} \operatorname{coth}\left(\frac{\xi}{2}\right)\right\} \\
& w_{2}(x, y, t)=\frac{2}{3}\left(\eta^{2}+\lambda^{2}\right)\left[1+\left\{\frac{1}{2}-\frac{1}{2} \operatorname{coth}\left(\frac{\xi}{2}\right)\right\}-\left\{\frac{1}{2}-\frac{1}{2} \operatorname{coth}\left(\frac{\xi}{2}\right)\right\}^{2}\right]
\end{aligned}
$$

where $a_{0}=\frac{1}{-4 \eta^{3}-4 \eta \lambda^{2}}\left\{4 \rho \eta^{2}-4 b_{0} \eta^{2} \lambda+4 \rho \lambda^{2}-4 b_{0} \lambda^{3}+\frac{4 \eta^{2} \lambda^{3}+4 \lambda^{5}}{\sqrt{3}}+\right.$ $\left.+\frac{4 \eta^{6}+8 \eta^{4} \lambda^{4}+4 \eta^{2} \lambda^{6}}{\sqrt{3}\left(\eta^{2} \lambda+\lambda^{3}\right)}\right\}$.

From Table 1, choosing $A=\frac{1}{2}, B=0, C=-\frac{1}{2}, Y(\xi)=\operatorname{coth} \xi \pm$ $\pm \operatorname{csch} \xi$ or $Y(\xi)=\tanh \xi \pm i \operatorname{sech} \xi$, inserting them into (5.6) we obtain the exact solutions

$$
\begin{align*}
u_{3}(x, y, t) & =a_{0}-\frac{\eta \lambda}{2 \sqrt{3}}\{\operatorname{coth} \xi \pm \operatorname{csch} \xi\} \\
v_{3}(x, y, t) & =b_{0}-\frac{\lambda^{2}}{2 \sqrt{3}}\{\operatorname{coth} \xi \pm \operatorname{csch} \xi\}  \tag{5.9}\\
w_{3}(x, y, t) & =-\frac{1}{6}\left(\eta^{2}+\lambda^{2}\right)\{\operatorname{coth} \xi \pm \operatorname{csch} \xi\}^{2}
\end{align*}
$$

$$
\begin{align*}
& u_{4}(x, y, t)=a_{0}-\frac{\eta \lambda}{2 \sqrt{3}}\{\tanh \xi \pm i \operatorname{sech} \xi\} \\
& v_{4}(x, y, t)=b_{0}-\frac{\lambda^{2}}{2 \sqrt{3}}\{\tanh \xi \pm i \operatorname{sech} \xi\}  \tag{5.10}\\
& w_{4}(x, y, t)=-\frac{1}{6}\left(\eta^{2}+\lambda^{2}\right)\{\tanh \xi \pm i \operatorname{sech} \xi\}^{2}
\end{align*}
$$

where $a_{0}=\frac{1}{-2 \eta^{3}-2 \eta \lambda^{2}}\left\{-2 \rho \eta^{2}+2 b_{0} \eta^{2} \lambda-2 \rho \lambda^{2}+2 b_{0} \lambda^{3}\right\}$.
From Table 1, choosing $A=1, B=0, C=-1, Y(\xi)=\tanh \xi$ or $Y(\xi)=\operatorname{coth} \xi$, inserting them into (5.6) we obtain the exact solutions

$$
\begin{align*}
& u_{5}(x, y, t)=a_{0}-\frac{2 \eta \lambda}{\sqrt{3}} \tanh \xi \\
& v_{5}(x, y, t)=b_{0}-\frac{2 \lambda^{2}}{\sqrt{3}} \tanh \xi  \tag{5.11}\\
& w_{5}(x, y, t)=-\frac{2}{3}\left(\eta^{2}+\lambda^{2}\right) \tanh ^{2} \xi \\
& u_{6}(x, y, t)=a_{0}-\frac{2 \eta \lambda}{\sqrt{3}} \operatorname{coth} \xi \\
& v_{6}(x, y, t)=b_{0}-\frac{2 \lambda^{2}}{\sqrt{3}} \operatorname{coth} \xi  \tag{5.12}\\
& w_{6}(x, y, t)=-\frac{2}{3}\left(\eta^{2}+\lambda^{2}\right) \operatorname{coth}^{2} \xi
\end{align*}
$$

where $a_{0}=\frac{1}{-4 \eta^{3}-4 \eta \lambda^{2}}\left\{-4 \rho \eta^{2}+4 b_{0} \eta^{2} \lambda-4 \rho \lambda^{2}+4 b_{0} \lambda^{3}\right\}$.
From Table 1, choosing $A=\frac{1}{2}, B=0, C=\frac{1}{2}, Y(\xi)=\sec \xi+\tan \xi$ or $Y(\xi)=\csc \xi-\cot \xi$, inserting them into (5.6) we obtain the exact solutions

$$
\begin{align*}
& u_{7}(x, y, t)=a_{0}-\frac{\eta \lambda}{2 \sqrt{3}}\{\sec \xi+\tan \xi\} \\
& v_{7}(x, y, t)=b_{0}-\frac{\lambda^{2}}{2 \sqrt{3}}\{\sec \xi+\tan \xi\}  \tag{5.13}\\
& w_{7}(x, y, t)=-\frac{1}{6}\left(\eta^{2}+\lambda^{2}\right)\{\sec \xi+\tan \xi\}^{2},
\end{align*}
$$

$$
\begin{align*}
& u_{8}(x, y, t)=a_{0}-\frac{\eta \lambda}{2 \sqrt{3}}\{\csc \xi-\cot \xi\} \\
& v_{8}(x, y, t)=b_{0}-\frac{\lambda^{2}}{2 \sqrt{3}}\{\csc \xi-\cot \xi\}  \tag{5.14}\\
& w_{8}(x, y, t)=-\frac{1}{6}\left(\eta^{2}+\lambda^{2}\right)\{\csc \xi-\cot \xi\}^{2}
\end{align*}
$$

where $a_{0}=\frac{1}{2 \eta^{3}+2 \eta \lambda^{2}}\left\{2 \rho \eta^{2}-2 b_{0} \eta^{2} \lambda+2 \rho \lambda^{2}-2 b_{0} \lambda^{3}\right\}$ and $\xi=\eta x+\lambda y-\rho t$.

## 6. Conclusion

In this article, the generalized tanh-function method is applied to find the traveling wave solutions of the coupled $(2+1)$-dimensional Nizhnik-Novikov-Veselov, the $(2+1)$-dimensional Painlevé integrable Burgers equations and the $(2+1)$-dimensional Wu-Zhang equations. The generalized tanh-function method is successfully used to establish these solutions. So this method provides a powerful mathematical tool to obtain more general exact solutions of many other nonlinear partial differential equations in mathematical physics.

## References

[1] ABLOWITZ, M. J. and SEGUR, H.: Solitons and inverse scattering transform, SIAM, Philadelphia, 1981.
[2] BOITI, M., LEON, J. J. P., MANNA, M. and PEMPINELLI, F.: On the spectral transform of the Korteweg-de Vries equation in two spatial dimensional, Inverse Probl. 2 (1986), 271-279.
[3] CAI, G., MA, K., TAG, X. and ZHANG, F.: New exact traveling solutions of the $(2+1)$-dimension Burgers equations, Int. J. of Nonlinear Sci. Numer. Simul. 6 (2008), 185-192.
[4] EL-WAKIL, S. A. and ABDOU, M. A.: New exact traveling wave solutions using modified extended tanh function method, Chaos, Solitons and Fractals 31 (2007), 840-852.
[5] FAN, E. G.: Uniformly constructing a series of explicit exact solutions to nonlinear equations in mathematical physics, Chaos, Solitons and Fractals 16 (2003), 819-839.
[6] FAN, E.: Traveling wave solution of nonlinear evolution equations equations by using symbolic computation, Appl. Math. J. Chinese Univ., Ser. B 16 (2001), 149-155.
[7] FAN, E. and ZHANG, H.: A note on the homogeneous balance method, Phys. Lett. A 264 (1998), 403-406.
[8] HIROTA, R.: Direct method of finding exact solutions of nonlinear evolution equations, in: Bullough, R., Caudrey, P., eds., Bäcklund tansformations, Springer, Berlin, 1980.
[9] JAULENT, M. and MIODEK, K.: Nonlinear evolution equations associated with energy dependent Schrodinger potentials, Lett. Math. Phys. 1 (1976), 243-250.
[10] Khater, A. H., MALFLIET, W., CALLEBAUT, D. K. and KAMEL, E. S.: The tanh method, a simple transformation and exact analytical solutions for nonlinear reaction diffusion equations, Chaos, Solitons and Fractals 14 (2002), 513-522.
[11] LOU, S. Y.: On the coherent structures of the Nizhnik-Novikov-Veselov equation, Phys. Lett. A 277 (2000), 94-100.
[12] MA, Z. Y.: Homotopy perturbation method for Wu-Zhang equation in fluid dynamics, Int. Sympos. Nonlinear Dynamics 96 (2008), 012182.
[13] MALFLIET, W.: Solitory wave solutions of nonlinear wave equations, Am. J. Phys. 60 (1992), 650-654.
[14] MALFLIET, W. and HEREMAN, W.: The tanh method I: exact solutions of nonlinear evolution and wave equations, Phys. Scripta 54 (1996), 563-568.
[15] MATSUNA, Y.: Reduction of dispersionless coupled KdV equations to the EulerDarboux equation, J. Math. Phys. 42 (2001), 1744-1760.
[16] VAKHNENKO, V. O., PARKES, E. J. and MORRISON, A. J.: A Bäcklund transformation and the inverse scattering transform method for the generalized Vakhnenko equation, Chaos, Solitons and Fractals 17 (2003), 683-692.
[17] REN, Y. J. and ZHANG, H. Q.: A generalized F-expansion method to find abundant families of Jacobi elliptic function solutions of the $(2+1)$-dimensional Nizhnik-Novikov-Veselov, Chaos, Solitons and Fractals 27 (2006), 959-979.
[18] YAN, Z.: Abundant families of Jacobi elliptic function solutions of the (2+1)dimensional integrable Davey-Stewartson-type equation via a new method, Chaos Solitons and Fractals 18 (2003), 299-309.
[19] YUSUFOGLU, E. and BAKIR, A.: Exact solutions of nonlinear evolution equations, Chaos, Solitons and Fractals 37 (2008), 842-848.
[20] WANG, Q., CHEN, Y. and ZHANG, H. Q.: A new Riccati equation rational expansion method and its application to $(2+1)$-dimensional Burgers equation, Chaos, Solitons and Fractals 25 (2005), 1019-1028.
[21] WAZWAZ, A. M.: The tanh-method for traveling wave solutions of nonlinear equations, Appl. Math. Comput. 154 (2004), 713-723.
[22] WAZWAZ, A. M.: The tanh-method for generalized forms of nonlinear heat conduction and Burger-Fisher equations, Appl. Math. Comput. 169 (2005), 321338.
[23] WAZWAZ, A. M.: Traveling wave solutions of generalized forms of Burger, Burger-KdV and Burger-Huxley equations, Appl. Math. Comput. 169 (2005), 639-656.
[24] WAZWAZ, A. M.: Two reliable methods for solving variants of the KdV equation with compact and noncompact structures, Chaos, Solitons and Fractals 28 (2006), 454-462.
[25] WAZWAZ, A. M.: The tanh method: exact solutions of the Sine-Gordon and Sinh-Gordon equations, Appl. Math. Comput. 167 (2005), 1196-1210.
[26] WAZWAZ, A. M.: The tanh method: solitons and periodic solutions for the Dodd-Bullough-Mikhailov and the Tzitzeica-Dodd-Bullough equations, Chaos Solitons and Fractals 25 (2005), 55-63.
[27] WAZWAZ, A. M.: The sine-cosine method for obtaining solutions with compact and noncompact structures, Appl. Math. Comput. 159 (2004), 559-576.
[28] WAZWAZ, A. M. and HELAL, M. A.: Nonlinear variants of the BBM equation with compact and noncompact physical structures, Chaos Solitons and Fractals 26 (2005), 767-776.
[29] WAZWAZ, A. M.: New compactons, solitons and periodic solutions for nonlinear variants of the KdV and the KP equations, Chaos Solitons and Fractals 22 (2004), 249-260.
[30] WAZWAZ, A. M.: A sine-cosine method for handling nonlinear wave equations, Math. Compt. Model 40 (2004), 499-508.
[31] WAZWAZ, A. M.: The extended tanh method for new soliton solutions for many forms of the fifth-order KdV equations, Appl. Math. Comput. 184 (2007), 10021014.
[32] WAZWAZ, A. M.: New solitary wave solutions to modified forms of DegasperisProcesi and Camassa-Holm equations, Appl. Math. Comput. 186 (2007), 130141.
[33] WAZZAN, L.: More solutions to the KdV and the KdV Burgers equations, Proc. Pakistan Acad. Sci. 44 (2007), 117-120.
[34] XIA, T., LI, B. and ZANG, H.: New explicit and exact solutions for the Nizhnik-Novikov-Veselov equation, Appl. Math. E. Notes 1 (2001), 139-142.
[35] ZAYED, E. M. E. and GEPREEL, K. A.: The gereralized multiple Riccati equations rational expansion method and its applications to the $(2+1)$-dimensional Painlevé integrable Burgers equations, Inter. J. Nonlinear Sci. Numer. Simul. 10 (2009), 839-849.
[36] ZAYED, E. M. E. and RAHMAN, H. M. ABDEL: On solving the KdV-Bugers equation and the Wu-Zhang equations using the modified variational iteraion method, Int. J. Nonlinear Sci. Numer. Simul. 10 (2009), 1093-1103.
[37] ZAYED, E. M. E.: The $\left(\frac{G^{\prime}}{G}\right)$-expansion method and its applications to some nonlinear evolution equations in the mathematical physics, J.Appl. Math. Computing 30 (2009), 89-103.
[38] ZAYED, E. M. E. and RAHMAN, H. M. ABDEL: The extended tanh-method for finding traveling wave solutions of nonlinear partial differential equations, Nonlinear Sci. Letters A 1, No. 2 (2010), 193-200.


[^0]:    E-mail addresses: e.m.e.zayed@hotmail.com, hananmetwali@hotmail.com

